L= 327.7 m
= 1,520 m2




02






















27







12




15cm

10 11t

30cm

0.28n3(

0.28m3(

0.2m3)

0.2n3)

28

1,268

63

63

101

101

101

101

101

.032

m2

m3

m3

m3

m3

m3

m3

m3




80mm 1

)1
13

50mm

1,268

1,268

1,268

m2

m2

m2

10




15cm

10 11t

30cm

0.28n3(

0.28m3(

0.2m3)

0.2n3)

14

252

13

13

20

20

20

20

20:

.016

m2

m3

m3

m3

m3

m3

m3

m3




80mm 1

)1
13

50mm

252

252

252

m2

m2

m2

10




-5-21-1




-3- -1

1
15cm
€) ()
[ 1
20cm @ 56cm
(
(

22




-3- -1

15cm

Q)

)

[J1] = 1
[J5] = 1

[J2] = 1

15cm




-4- -1

m2

Q)

)

1.2

(
0.28m3(

)

0.2m3) 1.7t




-2-25-1

3
m3
(%) )
[
2t
(
1.2
[ 1
[J1] =3 [J2] = 4
[331=1 DID DID [ic] =3 1.5km
[0J]1 =1




-1- -1

m3

Q)

)

( )
0.28m3[  0.2m3]

1.2

[J1] = 1
[J5] = 1

2

[J2] = 5




-1- -1

5
0.28m3(  0.2m3) m3
€)) ()
[ 1
4t
(

1.2
[ 1

[J1] = 2 [02] =5 0.28m3(  0.2m3)

[31 = 1 ( ) [041 =1 DID DID

[J0] = 2 1.0km




-1- -1

6
( m3
(%) %)
( ) :2
0.28m3[  0.2m3]
(

1.2

1
[J1] = 1

[J2] = 4




-1- -1

-
0.28m3(  0.2m3) m3
€)) ()
[ 1
4t
(
1.2
[ 1
[J1] = 2 [02] =5 0.28m3(  0.2m3)
[31 = 1 ( ) [041 =1 DID DID
[Jo] = 8 6.0k




-1- -1

1.2

8
m2
() (D)
[ 2
3.1m
[ 2
10t 2.1m
8 20t
C )




-1- -1

m2

Q)

)

1] =1

[341 = 1




-1- -1

9
) 80mm 1 m2
(%) ()
[ 2 1

3.1m

[ 2 1

10t 2.1m

8 20t

« )
« )




-1- -1

9
80mm 1 m2
() (D)
RC-30
1.2
(

L 1

[J1] = 12 [J4] = 80.000 mm

[J5] =1 [J7] =1




-1- -1

10
( )1 50mm (13) m2
€) ()
[ 1 2.3 6.0m
8 20t
( )

10 12t

« )

«c )




-1- -1

10
( )1 50mm (13) m2
(D) D)
(13)
PK-3
1.2
C )
L 1
[J2] = 50.000 mm 1 [J1] = 4 3.0m
[A1] = 14 (13) [34] = 3 PK-3
[J6] =1 [yl =1

vl =1




